THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
1.	Breakaway Barricad	les	
	10 Units	\$ <u>0.0\</u> /UN Figures	\$
WRITE	UNIT PRICE BID:	Seis dallais + and	e cent
		0	PER UNIT
2.	Drums		
	100 Units	\$ <u></u> \(\cdot\). \(\text{\longle}\)/UN Figures	\$Figures
WRITE	UNIT PRICE BID:	new dallas + an	e cent
			PER UNIT
3.	Traffic Cones		
	200 Units	\$ <u></u> \(\circ\)\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	\$ 2.00 Figures
WRITE	UNIT PRICE BID:	Dero dallais + a	ne cont
			PER UNIT
4.	Construction Signs		
	200 Square Feet	\$ 0.0\ /SF Figures MSOK	\$ 2.00 Figures
WRITE	UNIT PRICE BID:	new dollars + ane	
			PER SQUARE FOOT
5.	Traffic Director, Flag	ger (if and where ordered)	
	120 Man Hours	\$ <u>105.00</u> /MH Figures	\$ <u>12,600.00</u> Figures
WRITE	UNIT PRICE BID:	One Hundred Five Dollars and Zero Cents	
	is miletale		PER MAN HOUR

SUBTOTAL FORWARD (\$___

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
6.	Fuel Price Adjustment		
	6,100 Dollars	\$ <u>1.00</u> /DOL Figures	\$6,100.00 Figures
WRITE	UNIT PRICE BID:	One Dollar and Zero Cents	
			PER DOLLAR
	Asphalt Price Adjustme	ent	
7.	11,800 Dollars	\$ <u>1.00</u> /DOL Figures	\$11,800.00 Figures
WRITE	UNIT PRICE BID:	One Dollar and Zero Cents	
			PER DOLLAR
8.	Clearing Site (Maximum	m Bid of \$25,000.00)	
	1 Lump Sum	\$ <u>25,000 @</u> /Ls Figures	\$ 25,000.00 Figures
WRITE	UNIT PRICE BID:	venty hime thous	and no
	cruts	0	PER LUMP SUM
9.	Remove Existing Walk	s	
	290 Square Yards	\$ <u>O.O\</u> /SY	\$ 2.90 Figures
WRITE	UNIT PRICE BID:	zero dallais +	ane cut
			PER SQUARE YARD
10.	Remove Existing Curb	or Curb and Gutter (Include Sawcutting)	
	570 Linear Feet	\$/LF Figures	\$ 5,70 Figures
WRITE	UNIT PRICE BID:	Jero Vallais + o	ne cut
			PER LINEAR FOOT

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING $\mathsf{PRICE}(S)$:

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	Excavation, Test Pits		
	5 Cubic Yards	\$/CY	\$ <u>0.05</u> Figures
WRITE	: UNIT PRICE BID: MICE	dallar + one	cents
			PER CUBIC YARD
12.	Remove and Replace Roadway Ba	se (if and where ordered)	
	2,000 Square Yards	\$ O O \ /SY	\$ 20.00 Figures
WRITE	UNIT PRICE BID: MUO	Olallar + one	Cent
-	/		PER SQUARE YARD
13.	Hot Mix Asphalt Milling, 3" or Less		
	17,500 Square Yards	\$ 2.00 /SY Figures	\$ 35,000.00 Figures
WRITE	UNIT PRICE BID: TWO do	Allais + news	cents
5			PER SQUARE YARD
14.	Hot Mix Asphalt 12.5M76 Leveling	Course, Variable Thickness	
	200 Tons	\$	\$ 2 - OO Figures
WRITE	UNIT PRICE BID:		
			PER TON
15.	Hot Mix Asphalt 9.5M64 Surface Co	ourse, 2" Thick	
	3,850 Tons	\$ 92.50 /TN Figures	\$ 356, 125,00 Figures
WRITE	UNIT PRICE BID: Minute	two dallais +	Lilty
Cl	uto	0	PER TON

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING $\mathsf{PRICE}(S)$:

ITEM.	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
16.	Reconstruct Inlet, Type A, Using N	ew Castina	
10.	1 Unit	\$	\$
WRITE	EUNIT PRICE BID:	thousand dal	laus +
_/	gero cento		PER UNIT
17.	<i>J</i> Reconstruct Inlet, Type B, Using N	ew Casting	
	23 Units	\$ 1250.00 /UN Figures	\$ 28,750.00 Figures
WRITE	: UNIT PRICE BID: One	hausard two hu	named fifty
0	allow tyero	Cento	PER UNIT
18.	Reconstruct Inlet, Type E, Using No.	ew Casting	
	1 Unit	\$/UN Figures	\$
WRITE	UNIT PRICE BID: OMO YM	ausand ficher	idied
	allars + new	cento	PER UNIT
19.	Reset Manhole, Storm Sewer, Usin	g Existing Casting	
	1 Unit	\$/UN Figures	\$
WRITE	UNIT PRICE BID:	o dallais +	One
CU	ut		PER UNIT
20.	Detectable Warning Surface		
20.	14 Square Yards	\$ 200.00 /sy	· 2300 00
	14 Oquale Talus	Figures	Figures
WRITE	UNIT PRICE BID: TWO M	maked dallaw	+ Mero
Ce	uto		PER SQUARE YARD

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING $\mathsf{PRICE}(S)$:

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
21.	Concrete Driveway, Reinforced, 6"	Thick	
	120 Square Yards	\$ 125.00 /sy Figures	\$ 15,000.00 Figures
WRITE	E UNIT PRICE BID: One In	unched trenty	me dallars
	mo cents	0 ,	PER SQUARE YARD
22.	Hot Mix Asphalt Driveway, 2" Thick		
	120 Square Yards	\$/SY	\$\.20
WRITE	E UNIT PRICE BID JUONA	law + one cen	\
	U		PER SQUARE YARD
23.	Concrete Sidewalk, 4" Thick (include	de bedding)	
	270 Square Yards	\$ 125.00 /sy Figures	\$ 33,750.60 Figures
WRITE	UNIT PRICE BID: One In	ushed twenty,	fine
<u>d</u>	allows + yero	cents	PER SQUARE YARD
24.	8"x18" Concrete Vertical Curb		
	570 Linear Feet	\$ 45.00 /LF Figures	\$ 25,650.00 Figures
WRITE	: UNIT PRICE BID: Forty.	fire dallais -	+ sero
	ents 0		PER LINEAR FOOT
25.	Traffic Striping, Long-Life, Epoxy R	esin, 4" Wide	
	500 Linear Feet	\$ 2.10 /LF Figures	\$ 056.00 Figures
WRITE	UNIT PRICE BID: TWO	lallow + ten	ceuto
(———			PER LINEAR FOOT
		SUBTOTAL FORWARD (\$	56, 161.96

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
26.	Traffic Marking, Thermoplastic		
	400 Square Feet	\$ 6.00 /SF Figures	\$ 2,400.00 Figures
WRITE	E UNIT PRICE BID: 5 14	dallais + zero	cento
			PER SQUARE FOOT
27.	Regulatory and Warning Signs		
	10 Square Feet	\$ 45.00 /SF Figures	\$ 450.00 Figures
WRITE	UNIT PRICE BID: Fout	y fine dallais +	- sero
	luts	0 .	PER SQUARE FOOT
28.	Reset Water Valve or Water Se	rvice Box	
	26 Units	\$ <u>O. O\</u> /UN Figures	\$ <u>0.26</u> Figures
WRITE	E UNIT PRICE BID: <u>He</u>	odallais + Ox	re cent
			PER UNIT
29.	Reset Manhole, Sanitary Sewer	, Using Existing Casting	
	33 Units	\$/UN Figures	\$ <u>6.33</u> Figures
WRITE	E UNIT PRICE BID: Me	10 dallars + or	re cent
-	0		PER UNIT
30.	Topsoiling, 4" Thick, Including F	ine Grading	
	500 Square Yards	\$ <u>0</u> .0_/sy	\$ 5-00
WRITE	E UNIT PRICE BID:	Figures Lo On O ous + a	Figures
	0		PER SQUARE YARD

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING $\mathsf{PRICE}(S)$:

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
31.	Borrow Topsoil (if and where ordere	ed)	
	500 Square Yards	\$/SY	\$ 5.00 Figures
WRITE	: UNIT PRICE BID:	odallais - a	ne cent
_			PER SQUARE YARD
32.	Fertilizing and Seeding, Type A-3		
	500 Square Yards	\$/SY	\$ 5.00 Figures
WRITE	UNIT PRICE BID:	dallars + on	e rent
	U		PER SQUARE YARD
33.	Straw Mulching		
	500 Square Yards	\$/SY	\$ 5-60 Figures
WRITE	UNIT PRICE BID:	dallow + ane	Cent
	0		PER SQUARE YARD
34.	Allowance for Work Not Specified		
	1 Allowance	\$ <u>20,000.00</u> /AL Figures	\$ Figures
MOLTE	LINIT DDIOE DID. T T.		i igai oo
WRITE	UNIT PRICE BID: Twenty The	ousand Dollars and Zero Cents	
			PER ALLOWANCE

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 34 inclusive.				
	ollars.			
Five hundred Deventy him exhaus and this (Amount - Written) Callars & fifty five c	ty t			
TIME FOR COMPLETION of this Contract is <u>90</u> calendar days.				
Quantities are not guaranteed. Final payment will be based on actual quantities.				
C 5. BIDDER agrees that the Work will be substantially complete within <u>75</u> calendar days after the date when the Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed and ready for final payment within <u>90</u> calendar days after the date when the Contract Time commences to run.				
BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete the Work on time.				
C 6. Communications concerning this Bid shall be addressed to:				
The address of BIDDER indicated below:				
S & G Paving, Inc. 224C Forsgate Drive				
MAILING ADDRESS Jamesburg, NJ 08831				
C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract include as part of the Contract Documents have the meanings assigned to them in the General Conditions.				
SUBMITTED ON FEDRUARY 8, 20 23				
Contact Information Project Manager: Business Address: S & G Paving, Inc. 224C Forsgate Drive Jamesburg, NJ 08831				
Phone Number: <u>732-521-1936</u> Fax Number: <u>732-521-316-1</u> Mobile Phone: <u>856-236-2601</u> Email Address: <u>1006-59 Paving</u> V	net.			